OMAL S.p.A. Societa Benefit
REAE - EXFHMEAZRLE (BS) FELEFHFILE (Rodengo
Saiano) , Via Ponte NuovoK#HNS

A
by "

b AU HE T HhE - FEAREANEAZAL A (BS) AFEHNE (Passirano) |, Via
-

TOMATION BrognoloX#125

r

FE1E.+39 0308900145 {£H.+39 0308900423

Warning: filectime(): stat failed for
Nar/www/vhost/www.omal.it/htdocs/https:;//www.omal.it/./FilesProdotti/RICEVUTADEPOSITOF.TATEXN.AP-18.pdf in
/var/www/vhost/www.omal.it/htdocs/prodotto-printable.php on line 65

Warning: filectime(): stat failed for /var/www/vhost/www.omal.it/htdocs/https:;//www.omal.it/./FilesProdotti/34-Certificate-
202029301-OMAL-AttuatoriSRSRNDADAN.pdf in /var/www/vhost/www.omal.it/htdocs/prodotto-printable.php on line 65

Warning: filectime(): stat failed for /var/www/vhost/www.omal.it/htdocs/https:;//www.omal.it/./FilesProdotti/TAPO0001G5-
revisionl.pdf in /var/www/vhost/www.omal.it/htdocs/prodotto-printable.php on line 65

Warning: filectime(): stat failed for /var/www/vhost/www.omal.it/htdocs/https:;//www.omal.it/./FilesProdotti/UITGOGO1-
UITGOGOIATX-FogliettolstruzioniAttuatoriAGO.pdf in /var/www/vhost/www.omal.it/htdocs/prodotto-printable.php on line
65

Warning: filectime(): stat failed for
Nar/www/vhost/www.omal.it/htdocs/https;//www.omal.it//PdfProdotti/116/Istruzioni/ISTRUZIONI USO 8_0842/8_0842-
Istr_Attuatori_Pneumatici_Omal-03-18.pdf in /var/www/vhost/www.omal.it/htdocs/prodotto-printable.php on line 65

Warning: filectime(): stat failed for /var/www/vhost/www.omal.it/htdocs/https:;//www.omal.it/./FilesProdotti/UMA800081B-IT-

ATTUATOREPNEUMATICODAI15-DAN1920-SR15-SRN960-DD-DAV-SRV-07-21.pdf in
/var/www/vhost/www.omal.it/htdocs/prodotto-printable.php on line 65

AGO CF8M - DAXIXE1CF8M

~,— OO

EERITES

R SEPITE

/N AGO CF8M - CF8MEEIEH TR

\__ Be environmentally friendly..please don't print this document unless you really need to. 1/13


https://www.omal-automation.cn/%E4%BA%A7%E5%93%81/%E6%B0%94%E5%8A%A8%E6%89%A7%E8%A1%8C%E5%99%A8/
https://www.omal-automation.cn/%E4%BA%A7%E5%93%81/%E6%B0%94%E5%8A%A8%E6%89%A7%E8%A1%8C%E5%99%A8/cf8m%E4%B8%8D%E9%94%88%E9%92%A2%E7%B2%BE%E5%AF%86%E9%93%B8%E9%80%A0%E6%89%A7%E8%A1%8C%E5%99%A8/

HIE Hht - RARRFEAETLEE (BS) PAFHLE (Passirano) , Via
Brognolo X125

y N ® OMAL S.p.A. Societa Benefit
.. Bt - EAFENEAFAT L (BS) BEXFFIWE (Rodengo
s M I Saiano) , Via Ponte Nuovo XIS
..
- Y

FEIE.+39 0308900145 £ H.+39 0308900423
5

1. BIER R B SR
IARRR SR Z RKERN ;
RMEKIRER |, R i SR A EE.

2.1, BEMESMEERIIS0 HRC
ERRARAT RN

3AIRIFEE Z AR SN EERR
ERN:N)ES )

4RFERNTFIRR (BT TRENTE KRB, KEME s T E)).

TREEME RN MR EER NN, TR DT R BER

EIBIENES LN ECE g i oF Se)s s b

HARTERMERAPITES , HRI BN, RETEFRER

HRTERAESFABITES | HEEE/N-30% Kg/Nm) , SRR MR AR ERA

ARTRRMERAPITE , HFESEEM , (W 1 -40% TS cm3/Nm ; B3 1 -20% T cm?/Nm) , BEB R SIRERESIM TSR , SEHERNR
~FESE.

S.BBNELE
BRTBRIRAREABEE | o IR hR R B .

6. Stainless Steel shaft
Higher corrosion resistance

B DANI5E! S 21318 NAMU RER A RR 43 0
T RETIMEE

EOMALB B RIENTER LA
ML &AM ERRREER

ATEXIAIE
A RET HAESRMFHERN

REIKSILIFRAPAIE
FERETRESR

\_ Be environmentally friendly..please don't print this document unless you really need to. 2/13


https://www.omal-automation.cn/ImmaginiProdotti/Pallinato-AGO-DA.png

=omo

L N

r

OMAL S.p.A. Societa Benefit

SERAE - BAFHAMERERLE (BS) FEXFFIE (Rodengo

Saiano) , Via Ponte NuovoK#HNS

Bk - EAFEEARTELS (B i (Passi Vi
TOMATION S - EAFIEMEAHRTE (BS) PAFAHIE (Passirano) ia

[T

BARSE

HEATFISNM~480NmMZ [,

JEZHEORRAE : 1SO 5211 ; FO3 - FOS - FO7 - F10

HAEN 15714-355 A,

BEREAE - 92°(-1°, +91°)

HEENHE | SHNENRBIEN ; BRES NDASSHPITHRINGRE T MmE R,
WHHEE— AT, DARKTFEIX T E 51456 barB 2 shsE(Nm).
EDNGORSHE , AT EHENAMURRB AR EERITR L.
DA15-DAZ0EIS3EHIACENAMUREEND

ATEXINERLSHAEE (2014/34/UE) ATEXBRSA], *ATEXESHARILR LR YX

BTSN

JBE : -20°C~+80°C

HEES : 5.6bar ; JEfElLES @ 8.4bar,

AR THRIEBEEATIRNEETS. FEIBEE , E#ASNBRM B A KR,

Be environmentally friendly..please don't print this document unless you really need to.

Brognolo X125

FEIE.+39 0308900145 £ H.+39 0308900423

3/13



L N

[T

N 15714-3 [Namur
inferface

= e '
= 5, ey
@r o
J 1

N

Optional Code KBNI4015

o ! T
©
ety
© P [} i
( )
N b/
Q ."?‘j\] o '
ety J 1

Optional Code KBVI4015

OMAL S.p.A. Societa Benefit

SERAE - BAFHAMERERLE (BS) FEXFFIE (Rodengo

Saiano) , Via Ponte NuovoK#HNS

& - EAFENEAEATE (BS) WHFEHLE (Passirano) |, Via

DA 15 + DA 30
DEH])
=] fii
7 v |
ENISO 5211

Il

L=
[l

jmmm||
1]

1

I

Be environmentally friendly..please don't print this document unless you really need to.

Brognolo X125

FEIE.+39 0308900145 £ H.+39 0308900423

4/13


https://www.omal-automation.cn/ImmaginiProdotti/1163.jpg

A ® OMAL S.p.A. Societa Benefit
TR BEpdE - EAFEHEABFTALE (BS) FHELFHFLWE (Rodengo
L - I Saiano) , Via Ponte Nuovo XIS
b
- X

BIE bt - EAFEFEAFAL A (BS) MAFERNE (Passirano) , Via
TOMATION BrognoloXK#125

FRIE.+39 0308900145 {£H.+39 0308900423

=
5
%)
|

- - + - | .
oY 2y
T~
[T Ay lw [T
ENISO 5211
X
1/8" GAS
Sho-o
. -
LV 9 L Lo T ’
, J T ,
== - 0Q.f5 ==
M5x8 . —+
o4 Interfaccia EN 15714-3 (Namur) 4
EN 15714-3 ([Namur) interface DK 8", ! )
*Anello di centraggio
Cenftering ring

=

o
I < Q A
N\ : /I

[

Interfaccia per accessori
EN 15714-3 (VDI/VDE 3845)

Accessories interface
- EN 15714-3 (VDI/VDE 3845)

‘_ Be environmentally friendly..please don't print this document unless you really need to. 5/13


https://www.omal-automation.cn/ImmaginiProdotti/DA060516S.jpg

L N

S
BHEM
R

L mm.
A mm.
B mm.
Cmm.
D mm.
Emm.
Fmm.

Ch.G mm.

H mm.
N mm.
Xmm.
Jmm.
K mm.
Q mm.
P mm.
U mm.
gV mm.

Y x prof. depth

mm

nis

T

W x prof. depth

mm

S8 dm3/cycle

FE Kg.

0

MATI

KGXI0T12

DA 15 FO3 DA 30 FO3

120
72,4
13,4
12
28,2

10,2
25
50
25

36
M5x9

0,079
0,8

r

0

KGXI0M4

134,6
80,4
1,6
13
32,7
S
2
)
10
23
68
10,2
25
50
25

36
M5x9

0,148
12

HE it  BARHEMERETLE (BS) PHFIHIE (Passirano)

DAO015516S DA030516S DA060516S DA120516S DA240516S DA480516S

OMAL S.p.A. Societa Benefit

Saiano)

SERAE - BAFHAMERERLE (BS) FEXFFIE (Rodengo

, Via Ponte NuovoXHNS

, Via

Brognolo X125

FEIE.+39 0308900145 £ H.+39 0308900423

KGXI0116 KGXI0T118 KGX10120
DA 60 FO3- DA 120 FO5- DA 240 FO5-
FOS FO7 FO7
158,4 192,9 246,8
92,5 16,5 136,4
37,7 46,2 56,2
1l 14 17
2 3 3
10 12 15
13 13 17
20 30 30
80,3 94,4 n7
12,2 16,3 19,3
25 35 35
50 80 80
25 30 30
50 70 70
36 50 50
M5x9 M6xT1 M6xXT1
M6XT1 M8x15 M8x13
0,28 0,59 118
1,8 33 5,6

Be environmentally friendly..please don't print this document unless you really need to.

KGX10122
DA 480
FO7-F10

2984
160

68
22
3
[
19
30
139,7
24,3
55
80
30
102
70

M8x13

M10x22

2,38
9,5

6/13



A ® OMAL S.p.A. Societa Benefit
.. BEpdE - EAFEHEABFTALE (BS) FHELFHFLWE (Rodengo
.. I Saiano) , Via Ponte Nuovo XS
b HETHhE - EAFEAEABZALE (BS) AFEHNE (Passirano) |, Via
- AUTOMATION Brognolo X125

L N

FEIE.+39 0308900145 £ H.+39 0308900423

“DA"WHHEHFEIE CFBMAER NI TERMAL - R : DA15-DA30

n) (@) () (@) () (s )

Be environmentally friendly..please don't print this document unless you really need to. 7/13


https://www.omal-automation.cn/ImmaginiProdotti/1167.jpg

L N

17*

EIfE
H=OE
VDI/VDE %
NAMUR % fg
%

LoYES
Hi
LoV
Seeger R4
rili
+FiEk
+F A EERSMT
+F B IBR AT
ihz%e
XAFTE
TS AL
i O
HTORE
e
TRIE 58
ZZESELN
JEZEOE
&30
HE
BIatiiZ v
OFZ B (15E2%)

¥

g
=<8
1
2
1
1
1
6
2
4
1
1
1
1
1
1
2
1
1
1
2
4
2
2
2
2
1

2

OMAL S.p.A. Societa Benefit
REAE - EXFHMEAZRLE (BS) FELEFHFILE (Rodengo
Saiano) , Via Ponte NuovoK#HNS

BIE bt : EARFEFEAFALE (BS) PHFERNE (Passirano)
Brognolo X125

, Via

FEIE.+39 0308900145 £ H.+39 0308900423

MR

NN
NBR
NN
Ny
ANFEN
Ny
N5
Nz
N5
Ny
B &5
A
S&HN
ZYarER g
ZYamE R s
ZYERER g
FKM
FKM
S&HN
P.T.F.E. carbo-graphite filled
Reals
NBR
S&N
B&5HW
ZYamER s
NBR

* BEHERIAN

Be environmentally friendly..please don't print this document unless you really need to.

8/13



A ® OMAL S.p.A. Societa Benefit

by " BEE - EAFMEFNEAREATE (BS) ZEXFFLWE (Rodengo
—— [ Gaiano) . Via Ponte NuoVoRTIS
b B - BAFEMEARATE (BS) MAFARNE (Passirano) |, Via
- AUTOMATION Brognolo X125

FE1E.+39 0308900145 {£H.+39 0308900423

\L Be environmentally friendly..please don't print this document unless you really need to. 9/13


https://www.omal-automation.cn/ImmaginiProdotti/1168.jpg

L N

(CoRNeeRIENRN0) R RIS SNRON

(@)

17*

EIfE
H=OFE
%

Loy
Hi
Seeger 5]
I
TS AL
Fih% e
iR
HTORE
+F A EERSMT
+F BB AT
JhIE
TRIE 52
WE
ki
HE
TEZEOHE
TXAGE
EXAEE
O
L HERHAA

¥

g
==
1
2
1
6
2
1
1
1
1
1
1
1
1
2
4
2
2
2
2
1
1
1

1

OMAL S.p.A. Societa Benefit

SERAE - BAFHAMERERLE (BS) FEXFFIE (Rodengo

Saiano)

, Via Ponte NuovoXHNS
BIE At - EAFHRHERETEE (BS) WAFHIE (Passirano)
Brognolo X125

, Via

FEIE.+39 0308900145 £ H.+39 0308900423

MR

AN
NBR
AN
N
NFH
RN
NFH
ZYEmE R g
ZYEER e
N
FKM
NEFHR
N
RNEBHR

P.T.F.E. carbo-graphite filled

Rabs
Oiks
iy
NBR
ZUREER s
Z B RS
FKM
ZREE R RS

* EHERIAM

Be environmentally friendly..please don't print this document unless you really need to.

10/13



o

®

q e (P

24 4

SCHEMA DI FUNZIONAMENTO

Immettendo aria nel foro 2 di alimentazione, i pistoni si muovono verso il
centro e si ha una rotazione antioraria, la posizione finale & quella rappresen-
tata nel disegno.

WORKING PLANE
Supplying air through the air connection 2, the pistons move towards the center
in an anticlockwise direction. The above drawing shows the final position.

OMAL S.p.A. Societa Benefit
REAE - EXFHMEAZRLE (BS) FELEFHFILE (Rodengo

Saiano)

, Via Ponte Nuovo K#11S

St - BARHEMEAETLE (BS) WHFARIE (Passirano) |, Via

Brognolo X125

FRIE.+39 0308900145 {£H.+39 0308900423

SCHEMA DI FUNZIONAMENTO

Immettendo aria nel foro 4 di alimentazione, i pistoni si muovono verso I'e-
sterno e si ha una rotazione oraria, la posizione finale & quella rappresentata
nel disegno.

WORKING PLANE
Supplying air through the air connection 4, the pistons move outwards in a
clockwise direction. The above drawing shows the final position.

ATTUATORE REGOLABILE-ISTRUZIONI PER L' UTILIZZO ACTUATOR WITH STROKE ADJUSTMENT-INSTRUCTIONS

TAPPO
CAP

A) Immettere aria nel foro “D"in modo che i pistoni (part. n°1) si vengano
a trovare in posizione di finecorsa verso i tappi.

B) Togliere il controdado (part. n°3) agendo sulla chiave C.

C) Togliere I'aria di alimentazione.

D) Con una chiave a brugola agire sulle viti (part. n°2) ed effettuare la limi-
tazione di corsa desiderata.

N.B. La corsa puo essere limitata per un massimo di 10° da 80° a 90°.
Altre regolazioni disponibili a richiesta.

E) Mettere aria nel foro “D’, verificare che entrambe le viti (part. n°2) siano
a battuta contro i pistoni.

F) Mettere il controdado (part. n°3) munito di O-ring (part. n°4) per la
tenuta tra dado e tappo.

\
|
\CHIAVE C
KEYC

A) Supply air through the air connection D so that the pistons (Part. 1) move
to the end-stroke position, towards the caps.

B) Remove the counter nut (part. 3) acting on the C key.

C) Shut off the air supply.

D) Adjust the end stroke as desired, acting on the screws (part 2) with an
hexagonal key.

Note: maximum adjusting stroke 10° ranging from 80° to 90°,

Other regulations on request.

E) Supply air through the air connection D and check that both screws stop
the pistons.

F) Screw the counter-nut (part 3) and its o-ring (part 4) to keep nut and cap
tight.

‘_ Be environmentally friendly..please don't print this document unless you really need to.

n/13


https://www.omal-automation.cn/ImmaginiProdotti/VYt2BL_Pag526.png

i)
20
g
=

L N

OMAL S.p.A. Societa Benefit
BEpdE - EAFEHEABFTALE (BS) FHELFHFLWE (Rodengo
Saiano) , Via Ponte Nuovo XIS

& - EAFENEAEATE (BS) WHFEHLE (Passirano) |, Via
TOMATION Brognolo X125

FEIE.+39 0308900145 £ H.+39 0308900423

Be environmentally friendly..please don't print this document unless you really need to. 12/13



OMAL S.p.A. Societa Benefit
BEpdE - EAFEHEABFTALE (BS) FHELFHFLWE (Rodengo
Saiano) , Via Ponte Nuovo XIS

A
..

. AU BIE b - EAFIEFEMRZALEE (BS) PAFEHE (Passirano) |, Via
~

r

TOMATION Brognolo X125

FEIE.+39 0308900145 £ H.+39 0308900423

-~ 11—

Certificati

ATEX - Pneumatic Actuators
SIL EN 61508 - Actuators: SR, SRN, DA, DAN

Type Approval Certificate for Marine and machinery systems and equipment
Istruzioni

ISTRUZIONI ATEX UITGOGOTATX
ISTRUZIONI USO 8_0842

Manuali

MANUALE UMA800081B

\_ Be environmentally friendly..please don't print this document unless you really need to. 13/13


https://www.omal.it/FilesProdotti/RICEVUTADEPOSITOF.T.ATEXN.AP-18.pdf
https://www.omal.it/FilesProdotti/34-Certificate-202029301-OMAL-AttuatoriSRSRNDADAN.pdf
https://www.omal.it/FilesProdotti/TAP00001G5-revision1.pdf
https://www.omal.it/FilesProdotti/UITG0G01-UITG0G01ATX-FogliettoIstruzioniAttuatoriAGO.pdf
https://www.omal.it/PdfProdotti/116/Istruzioni/ISTRUZIONI%20USO%208_0842/8_0842-Istr_Attuatori_Pneumatici_Omal-03-18.pdf
https://www.omal.it/FilesProdotti/UMA800081B-IT-ATTUATOREPNEUMATICODA15-DAN1920-SR15-SRN960-DD-DAV-SRV-07-21.pdf

	Certificati
	Istruzioni
	Manuali

